36 W H I N7 KA (T0EL EDOH)  WHiEE
BEHE 20244510 H25F &0 H
£ BT MBS M) =257 5,844 Yard Par 72

Sl BRIl 7

(7 azni)

I £z 8 5 8 % . BA

& B AR 227

B KHERA 7 234
M PRARA 238
¥iva WmAB 240
5 FHED 242
6132 FH=A 243
7L A 243
81z KXHIEB 245
ofsz <5 7 248
10431 B 250
11431 1E5F 251
12431 T4 252
1341 T% 253
14431 AL 253
154z BeARA 7 - 254
16431 % AB 256
1741 PN 260
184z B 266
19431 FHEB 267
201 KHIEC 267
21451 =R 270
22431 FHEC 271
234 FEH=EE 273

(v FDOE) BLr—L: @®2 @@B®6 7 ®Q@O®@1213@®150®O®

I fiz B % £ % e

B B T% 218.2

B B 7 218.8
3L K5 219.2
4L T4 219.6
54 £ 219.8
6131 B 220.6
7L FHA=A 221.4
813 KHIFB 7 222.2
9L A 222.6
10£i AMAESLL 222.6
1141 KR 2228
12431 EM 224




B36M LWL I N7 KA (T0FL EOE)  WEE

EEEH . 20244E10H25H &R
£ BT ks by MY —257 5,844 Yard Par 72

o AU 7

13431 EARA 7 224.2
1441 FHEC 2248
1541 FEH=B 225.2
164if FHEE 2262
1743z KHAMRFC 229.8
1843z - BIRR 230.4

AFYRE IRAER FiiE B ouT 38 IN 35 GROSS 73



3okl ZEHHINT7 K&K (T0mEL EDOF) s E

FREH: 20244E10H25H & EH
2 BT kY MY —2 57 5,844 Yard Par 72

TOTAL | JIEfiZ | TOTAL NET - TOTAL | JBfZ | TOTAL & NET.
RAEEE #mARB
227 1 240 4
E 4 OUT | IN |TOTAL HDCP| NET K 4% OUT | IN TOTAL HDCP| NET
M i 38 | 35 73 *| +1.2 |74.2 X B & =X 40 | 39 79 *| 36 754 |
T - 38 | 39 77 * 36 734 X B t# 1 40 | 40 80 *| 48 752
m & A A 38 | 39 77 * 48 722 W @B s z 41 | 40 81 *| 84 726
A R R 41 | 39 80 | 3.6 |76.4 A #® E X 39 | 42 81 6.0 750
TOTAL | JEfZ | TOTAL | NET TOTAL | JEfif TOTAL NET
KHAFA FEED
234 2 242 5
K 4 OUT | IN TOTAL HDCP NET K 4 OUT IN |TOTAL HDCP NET
fn 2 E = 36 | 38 74 * 12 728 V- PN 38 | 42 80 * 48 752
F OH OE L+ i 39 | 39 78 * 36 |744 X B E M 43 | 37 80 *| 72 728
B & X X 42 | 40 82 *| 84 736 X E #¥E = 43 | 39 82 * 96 724
B W e 41 | 43 | 84 | 84 756 - S 42 | 42 | 84 | 84 756
TOTAL | JEf | TOTAL | NET TOTAL | Bz | TOTAL| NET
mARA FHEA
238 3 243 6 2214 7
K 4 OUT IN | TOTAL HDCP NET K 4 OUT | IN |TOTAL HDCP NET
% KX @B 17 36 | 40 76 *| 1.2 {748 =R S R | 39 | 40 79 *| 6.0 |730*
E + B F X 39 | 41 | 80 * 60 740 /A > S - S| 40 | 42 82 * 72 748*
A F* E X 40 | 42 82 * 72 748 T OB K X 42 | 40 82 * 84 736*
- S L S 42 | 44 86 | 10.8 |75.2 R W B T 42 | 43 85 | 72 718
i




®B36m LW HpL AN T RKRE (TO0EL L) pEEE
B H . 2024410 H25H & H
£ BT -WAEESA Y Y —2 57 5,844 Yard Par T2

TOTALé BRI | TOTAL | NET TOTAL | MBS | TOTAL | NET
17 =B,
243 7 2226 9 250 10 2188 2
K % OUT | IN |TOTAL HDCP NET K £ OUT | IN |TOTAL |HDCP, NET
# H — B | 39 | 40 79 *| 48 |742* |8 H = 40 | 39 79 * 84 706*
® R — BB L4140 81* 72 738*| E H & 4 | 42 83 * 96 734*
X & B B 42 | M 83 *| 84 |746* = B A X 46 | 42 88 *| 132 748*
¥ H E B 45 | 46 91 | 144 766 3 5 2E OFx £ 44 | 46 90 9.6 804
i
TOTAL? JEfZ | TOTAL | NET TOTAL | JiEfiZ | TOTAL NET
KHEEB ! o
245 8 2222 8 251 | 11 2198 5
K 4 OUT | IN ‘ETOTALEHDCPE NET K 4 OUT | IN |TOTAL HDCP NET
F E ® X 39 1 39 | 78 * 60 720* 7 I #F B 40 | 38 78 * 36 |744*
" HF B F 38 | 45 83 *| 72 |758* B X 1T 42 | 43 85 *| 120 730*
T F B 43 | 4 84 * 96 744%* N B A £ B 42 | 46 88 *| 156 |724*
m A% % 43 | 46 | 89 | 132|758 & #F Bz 47 | 42 | 89 | 144 746
5
; |
TOTAL | JBfZL 'TOTAL | NET ‘ TOTAL  JEfZ | TOTAL & NET
i) | T4
248 9 2192 3 252 12 2196 4
K £ OUT  IN TOTAL HDCP NET K 4 OUT  IN |TOTAL HDCP NET
+ ®H A 39 | 40 79 * 60 730%* " E E A 41 | 36 77 *| 48 |722%*
¥ W & B 41 | 40 81 *| 60 |750* H BH E A X 39 | 46 85 *| 10.8 |742*
B OH O ® B 45 | 43 88 *| 16.8 |71.2* F Ok WM X 50 | 40 90 *| 16.8 | 73.2*




36

X ITN 7 KA
BiEH T 20244810 H25 A &R
£ BT W EWHY MY =257 5,844 Yard Par 72

(70 LL E o)

I AR 2

' TOTAL | BRI | TOTAL NET TOTAL | JIEfiZ TOTAL | NET
T KB
253 13 2182 1 256 16 2206 6
K % OUT | IN |TOTAL HDCP| NET K 4 OUT | IN | TOTAL HDCP| NET
B B # B 37 | M 78 *| 6.0 |720%* M B B W 41 | 42 83 *| 84 [746*
# £ & = 43 | 43 | 86 * 132 728* E H & X 41 | 44 | 85* 120 730*
B OE R ¥ I 42 | 47 | 89* 156 734* £ %FH = 8A 41 | 47 | 88 * 96 784
N S 2 N 44 | 49 | 93 132 798 | # F H 44 | 47 91 | 18.0 [730*
{ | 1
TOTAL JEff | TOTAL | NET | TOTAL | JIEfZ | TOTAL | NET
MEEIL KR
253 14 2226 10 260 17 2228 11
K 4 ouT | IN TOTAL‘HDCPE NET K 4 OUT | IN | TOTAL HDCP NET
5 2 B b 42 39 81 * 84 726* B # 2 42 | 42 | 84 * 108 732*
A % a1 | 43 84 *| 108 |732* 2 A H E — 47 | M 88 *| 132 | 748*
¥ A& E T 46 | 42 | 88 *| 84 796 B R 42 | 46 88 * 132 748*
#® F B R 49 | 47 | 96 | 192 768* A M B 4T 46 | 47 | 93 108 822
TOTAL | JBff A TOTAL | NET TOTAL | JiEfZ TOTAL | NET
HEARA =1
254 15 2242 13 266 18 2240 12
: i
K 4 OuT | IN ‘)TOTAL HDCP NET & | K % OUT | IN |TOTAL HDCP NET
’®R X # 39 | 45 | 84 * 96 |744* & 2 B 45 | 39 84 * 96 744*
A B F= i 42 | 43 85 *| 84 |76.6 B OF X B 45 | 45 90 *| 18.0 | 72.0*
£ B B’ - 42 | 43 85 *| 96 754* B B B B 46 | 46 92 *| 144 |776*
72 B - B 42 48 90 | 156 744* E F # = 49 | 46 95 | 15.6 794




B3om EWHI N7 RE (TR LEOBE) W E

B H . 2024410 H 25 H&EH
£ B\ N s MY —257 5,844 Yard Par 72

TOTAL | JIEfSL | TOTAL | NET L ?TOTAL JIBHRL | TOTAL | NET
FHEB FHEC
267 19 2252 15 271 22 2248 14
: \ i L
K % OUT | IN | TOTAL HDCP NET K % OUT | IN |TOTAL HDCP| NET
B & # ok 45 | 39 84 *| 84 |756% S E OB 42 | 43 85 *| 96 |754%
* OF# EF # 47 | 42 89 * 120 /770 X B B %F 45 | 47 92 * 168 | 75.2*
£ B =" B 49 | 45 94 *| 204 736%* b HE & i | 46 | 48 94 * 16.8 |77.2
x B T X 45 | 49 94 | 18.0 |76.0* X W B = 50 | 47 97 | 228 742*
| N
TOTAL | JBEfL iTOTAL" NET TOTAL | JEfZ TOTAL NET
KHERC FEHEE
267 | 20 [2298 17 273 23 226.2 16
K 4 OUT | IN | TOTAL HDCP| NET K £ OUT | IN |TOTAL HDCP NET
* F B F ¥ 44 | 40 84 *| 84 756%* £ B A = 46 | 43 89 * 144 746*
A gh 44 | 46 90 *| 156 744* # H & B 46 | 45 91 *| 132 778*
I 46 | 47 93 *| 132 798* E & — ¥ 45 | 48 | 93 * 192 |738*
oM FE A 48 | 46 94 | 12.0 /820
TOTAL | JBfL | TOTAL| NET
SR
270 21 2304 18
K 4 OUT | IN |TOTAL HDGP NET
- | e 44 | 43 87 * 108 |76.2*
M X I & 43 | 47 | 90 * 144 756*
&t B = 46 | 47 93 *| 144 |786*
£ B O - 53 | 48 | 101 | 21.6 |79.4




